
1−10 1 10 210 310 (GeV)
T

TP p

0.95

1

1.05

1.1

R
at

io 0

0.02

0.04

0.06

0.08

0.1

0.12

0.14

0.16

0.18

0.2T
ef

fic
ie

nc
y 

vs
 p

T
Efficiency vs p

3− 2− 1− 0 1 2 3
ηTP 

0.95

1

1.05

1.1

R
at

io 0

0.02

0.04

0.06

0.08

0.1

0.12

0.14

0.16

0.18

0.2η
ef

fic
ie

nc
y 

vs
 

3− 2− 1− 0 1 2 3
φTP 

0.95

1

1.05

1.1

R
at

io 0

0.02

0.04

0.06

0.08

0.1

0.12

0.14

0.16

0.18

0.2φ
ef

fic
ie

nc
y 

vs
 

φEfficiency vs φEfficiency vs 

DQM_original_step2_ttbar-phase1-newgeom
DQM_pixelCPETemplate_step2_ttbar-phase1-newgeom
DQM_pixelCPETemplateCutChiSquare10_step2_ttbar-phase1-newgeom
DQM_pixelCPETemplateCutChiSquare15_step2_ttbar-phase1-newgeom
DQM_pixelCPETemplateCutChiSquare20_step2_ttbar-phase1-newgeom
DQM_pixelCPETemplateCutChiSquare30_step2_ttbar-phase1-newgeom


	Contents
	Page 1


